REFTA L gER EBAREIN 01

1. XOWGERDZZ 7oz, (Sik27, Afkdsn, B#R67, C#l9n)

1 r=3 (2)  rsinf=2

(3) rsin <9— %) =2 (4) r=2sin6
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2. XoWSERDZ 7 7o, (S35, A6, Bik8m 308, C #1157 )

@2 6=

N

1 = sin *~
1) r=sing

(3)  rcosf=-3 (4)  rcos (9 + %) =1

(5) r = —6cosf (6) 72 — 4r cos (9— %) =5

© ¥ - BEEEL L9 (http : //www.enjoymath.sakura.ne.jp/index.html )



http://www.enjoymath.sakura.ne.jp/index.html

REFR L dE EARER 01 RERH

1. XOWGERDZZ 7oz, (Sik27, Afkdsn, B#R67, C#l9n)

* AR

oy BEREFRCBVT, (z,y) W5 BH2ME 12X 2 1 DOFER HHEEFHE Lo B 2R 5. FRICHERICBNTD (r,6)
WS B 2@ X5 1 D0OAER AMEETH Lo B £
KEE r<0DrE21FZ 20080 THS. r<0DEE, (r,0), (|r,0 +7) KT

RO THELNEEZE2THZ 2D V0D, HEHEESRW DR S H b b o/cwiiwn, 22T, 77 70f#%)% 25
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OEERERVS  HEHE (r,0) ¥ B (2, y) OBERE FWT, (z,y) OFERICEST 5.

7':\/Wy2 x = rcos@ Yy = rsiné
OWMNEBWVWSE o= f(0),y=g(0) DR ZDTHIUL, &, U ZFELTHEBE,L 27 7 24Hi<.

(1 r=3 (2)  rsinf=2
r=\22+y &b, rsinf=y &9,
58 = Va?+y2=3 58 = y=2
& 24+y?=32 cBICTITHRER TH 5.
PODER, FR3OATHS. y
2
(@) x
(3) rsin (9 - %) =2 (4)  r=2sinf
EH = r(sin&‘cos%—cosé)’sin%) Md xr &b,
= @rsinef%rcose 7% = 2rsin g
= By _ly s 24+yt=2y
Sy~ lr=2 & 2?4+ (y-1)7=1
o y:%(xﬂ) Bl (0,1), ¥B1OATH .
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Y (2) B HARTHL L.

FIIZD (3) 1, (2) DEMZE, FRAICELT £ OREFSE) L
72bDTHS.

* F(r,0) = 0 ZEAICELT ¢ OFEEEBHI LD DI,
F(r,(0—¢)=0Td%.
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2.

ROMSTERD 7 Z 7 D 2. (S35, A6, B8 308, C#H117)

o T
(1) r = sin 5
r=+/r?+y? &b,
5 = a2+y?=1
& 224yt =V12
FOD RS, ¥R1OATHS.
3) rcosf = —3
rcosf=x &1,
5K = 2 =-3
yBICTITRER CTH 5.
‘ Y
O
_3 €T
(5) r=—6cosf
MWl xr &b,
r2 = —6rcosf

& 2249y =62
& (432 +y> =3
il (—3,0), ¥B3DHETH 5.
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2 6=

N

riICEALTCTIXEHT®205,r=0 (F&H) 3EZX5.
r <0 DEEFFAICELTHHREEZ S,
oT, TRID XS, y=o DEME LS.
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(4)  rcos (9+ %) =1
il = r(cos&‘cos%—sin@‘sin%)
= %rc059—§r51n9
= fe— %y
. %x—@y:l
© y=(-2)
BE -, c DR 2DER TH 3.
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el = 1% — % [EERE LTS X,

rcos(f —a)=a z=a Za{EEEIL 78 D
rsin(f —a)=a y=oa ZaliEEL728 D

*

(6) r2—4rcos(9—£) =5

s (22 +y?) —4r (COS@'COS% +sinf-sin %) =5
& (22 4+9?%) —2V3rcosh — 2rsind =5

s 224y —2V3x -2y =5

o @B+ (17 =3

Fi (V3,1), #E3DOE TH 3.
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